Exercice complémentaire séquence 68 page 89

Complete selon I'exemple :

5+5+5+5+5+5=6x5=30

3+3+3+3= i =

T+7+T7+7T+7 =i = L

6+6+06= ..o oL

b+4+4+4+4= .. =

B+8= . = L

9+9+9+9+9+9+9+9+9+9— .................... = ...
PP
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5+5+5+5+5+5=6x5=30

34+3+3+3 =i =

T+7+7+7+7 = = L

6+6+6=......coiiinn, oL

4 +4+4+4+4+4= ... = L

B+8= . =

9+9+9+9+9+9+9+9+9+9— .................... =L
TP PPPRPPPPPTPPPPPPPY

Exercice complémentaire séquence 68 page 89

Complete selon 'exemple :
54+54+54+54+54+5=6x5=30

3+3+3+3= i = L

T+T7T+T7+T7+7 =i, oo
6+6+6=....ccoiiiiiinnn, = ...

4+4+4+4+4= i, =L

8+8= i =
9+9+9+9+9+9+9+9+9+9— .................... =L
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